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"If X and Y are two sets each of which is numerically
equivalent to a subset of the other, then all of Xis
numerically equivalent toall of Y" is

(@) Zom'sLemma -

(b)  Schroeder Bernstein Theorem

(¢)  Cantor's Theorem

(d) None ofthese
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Which one is not correct :

- (a)  Everysubsetofacountable set is countable.

(b)  Theunitinterval [0, 1]is non-denumerable.,
(¢)  Theunionofacountable family of countable
sets is uncountable.

(d)  Noneofthese
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(%) A=¢ (@) A=A

(@) A=2a @) T & @
Aisclosed ifand only if '

@ A=¢ b A=A

(©) A=A (d) Noneofthese
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A (closure of A)is the
(a) . intersection of all closed supersets of A

(b)- unionofall closed supersets of A

' (c) intersectionofall closed subsets of A

(d) .unionofallclosed subsets of A
g & X={ab,c,d, e}

} = {'X, ¢"’ {3}, {Ei, b}s {ﬂ, C, d}'-' {ﬂ, ba C,'d},

a,b,e}} Rg ¢ B TPIE 2
((‘H) {{3, C, d}, {a, b: C, d}> {a; C,ld, E},X}

(@ {{ac,d}, {a},x}

(H) {{a, b}, X}  http://www.onlinebu.com
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-Let}{ {a,b,c,d, e}

J = {x, ¢, {a}, {a, b}, {a, ¢, d}, {a, b, <, d}
{a,b, e} } The neighboarhoods of the point c are

. @

{{a,c,d}, {a,b,¢c,d}, {a,c,d, e}, X}

®) . {{ac.d}, {a},x)

© {{ab},x} |

(d) Noneofthese

afr F g Qe ®F X & % i

YT g9 B © )

() “(A)W%frf?A,_Yﬁa’aaqﬂgaﬂ%
. (ET) - F! (A) Ted 8 ﬂﬁ'A;Yﬂi{ﬁ%ﬁ U

(@) F@A) <F(A)VACX
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IfF is continuous function from a topological space

(&)
(®)

©
(d)

~ X into a topological space Y

F-' (A)isclosed if Ais closed subset of Y
F'(A) is compact if A is compact subset
of Y. _ - |
F(A) cF(A)VAcX

None of these
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Which is not correct

countable
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countable space
(d) Noneofthese

(@) Every separable metric space is second

(b)  the plane R? with the usual topology sausf' es
~ the second axiom of countability.
(€) A second countable space is not first
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The real line R with the usual topology is a separable

space sine

(a) Qisdenumerableand Q=R
® Q=R

() Qisnondenumerable

- (d) Noneofthese
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Which one is fl_ot correct :
(@)  The image of a connected space under 2
.co'ﬁtinuc)us map is connected.
(b)) A topological space X is connected if and
only if X and ¢ are the only subsets which
.oare both open and closed,
) A tcrpologlcal space Xis connected if and
only if X is the union of two non-empty
| disjoint open sets.
(d) | Noﬁe of these h
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LetI=[0, 1], 2 Pathfrom a pointato a point bin
a topblngiéal space X is a continuous function
f:1 - Xwithf(0)=aand f(1)=bthen
(@ biscalled the initial point

" (b) aiscalled the terminal point

(¢) aiscalledthe nitial pointand bis called to
" terminal point
- (d) None ofthese
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" Note : Shortanswertype5 questions of 5 marks each with:
| Internal choice. < Sx§=23
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(a) *Zom'slemma

(b) Countablesets

:GFI?IEIT/or
Ry Fifm 6 3l X daTX, ‘F’I‘rﬂﬂ% g X, x X,
. off ol B

) .
- Prove that if X, and X, are countable, then ){i x X, 18
also countable.

Define Topologtcal space. Give one example.
. @¥al/or
fos oy f6 é’rd’la‘tma I & T ITH @Y 0H
- é]fna*rﬁ‘rmrvr T il 3 |

Prove that & subspace of a topological space isitselfa
topological Space

4, m%ﬁﬁmﬁwmﬁmﬁa
ffa]

Define equivalent definition of topology in terms of
Neighbourhood.
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